


 
 

Property Example 

Product Property 

 

𝐥𝐨𝐠(𝑨𝑩) = 𝐥𝐨𝐠 𝑨 + 𝐥𝐨𝐠 𝑩 

 

 

Quotient Property 

 

𝐥𝐨𝐠
𝑨

𝑩
= 𝐥𝐨𝐠 𝑨 − 𝐥𝐨𝐠 𝑩 

 

 

Power Property 

 

𝐥𝐨𝐠 𝑨𝑩 = 𝑩𝐥𝐨𝐠 𝑨 

 

 

Recall: How do each of the following get rewritten using fractional exponents?  
 

√𝑨 =                                √𝑨
𝟑

=                                 √𝑨𝟐𝟑
=                                        √𝑨𝟑𝟓

= 

 

 
Rewrite using Laws of Logarithms: 
 

1. log 𝑎2    2. log √𝑎     3. log 𝑥𝑦 
 
 

 4.    



 
 
 
 
 
 
 
Express as a single logarithm: 
 

15. 2 log3 𝑎 +
1

3
log3 𝑏     16. log 𝑎 + log 𝑏 − log 𝑐 

 
 
 
 
 
 
 
 
 
 
 
 
 

17. 2 log 𝑎 −
1

2
(log 𝑏 + log 𝑐)    18. log 𝑎 +

2

3
log 𝑏 − log 𝑐 

 
 
 
 
 
 
 
 
 
 
 
 
 

19. 4 ln 𝑥 − ln 𝑤 + ln 𝑧     20. 2 + 3 ln 𝑥 −
1

2
ln 𝑤 

 
 
 
 
 
 
 
 
 
 
 
 
Reciprocal Functions, Special Right Triangles, & Exact Value   Reciprocal Functions: 
 



 
 
 
 
 
 
 
 
 
Special Right Triangles: 

 

 30° − 60° − 90°      
 
 ______________      
 
 
 
  
 

sin 30° =   csc 30° =    sin 60° =   csc 60° =   
 

cos 30° =  sec 30° =    =



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Find the Exact Value 

 

1. 2 sin 60°      2. cos2 30°   
 
 
 
 
 
 
 
 
 
 

3. sin 60° cos 30° + tan 60°    4. 2 tan2 30° 
 
 
 
 
 
 
 
 
 
 
 

5. (1 + csc 45°)2      6. (tan 30°)2 + (cos 30°)2  
 
 
 
 
 
 
 
 
 
 
 
 

 𝟎°  
𝟑𝟎° 
𝝅

𝟔
 

𝟒𝟓° 
𝝅

𝟒
 

𝟔𝟎° 
𝝅

𝟑
 

𝟗𝟎° 
𝝅

𝟐
 

𝐬𝐢𝐧 𝜽熰焐煠

)

 



Directions: Find the exact value of each expression. 
  

13. sin 120°     14. cos 300° 
 
 
 
 
 
 
 

15. sin 315°     16. tan(−60°) 
 
 
 
 
 
 
 

17. sin(−135°)     18. sin (
5𝜋

3
) 

 
 
 
 
 
 
 

19. cos (−
3𝜋

4
)     20. cot

7𝜋

4
 

 
 
 
 
 
 
  

21. sec
2𝜋

3
      22. csc 135° 

 
 
 
 
 
 
 

23. cos 90° + tan 225°    24. 2 sin 330° + cos(−60°) 
 
 
 
 
 
 

1)  Find the x and y intercepts w/o a calculator of  𝑓(𝑥) = 𝑥3 − 4𝑥. 
 
 



 
 
 
 
 
2)  Find the equation of the line passing through the points (3,2) and (5,5). 
 
 
 
 
 
 
 

3)  Find the domain of the function 𝑓(𝑥) =  
3𝑥

2𝑥−4
. 

 
 
 
 
 
 
 

4)  Find the vertical asymptotes of the function:  𝑓(𝑥) =
3𝑥−5

𝑥2+5𝑥+6
. 

 

.


